
Viele%Probleme%aus%der%Praxis%lassen%sich%geometrisch%formulieren.%In%diesem%Kapitel%
werden%wir%ein%paar%Beispielprobleme%betrachten.%
Auch%Probleme%in%hochdimensionalen%Räumen%sind%geometrische%Probleme.%Hier%
werden%wir%allerdings%nur%2D%und%3D%Probleme%betrachten.%
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Ist%ein%Polygon%offen%oder%geschlossen?%Dieses%hier%ist%offen...%
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...%und%dieses%ist%geschlossen.%
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Komplexes%Polygon%=%Polygon%mit%Selbstüberschneidung.%Wo%ist%außen,%wo%ist%innen?%
Nicht%eindeuNg%definiert.%
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Problemstellungen%immer%der%Art:%Man%hat%eine%Menge%von%Punkten/Polygonen%und%
man%will%besNmmte%Fragen%dazu%beantworten%können.%
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Dieses%Problem%ist%algorithmusch%genauso%schwer%zu%beantworten,%wie...%
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...dieses.%Man%verfolgt%einen%Strahl%ausgehend%von%dem%Punkt%nach%außerhalb.%Jedes%
Mal%wenn%der%Strahl%das%Polygon%schneidet,%wechselt%der%Status%zwischen%
„innerhalb“%und%„außerhalb“.%
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Wir%schießen%eine%Gerade%vom%Punkt%aus%ins%Unendliche%und%zählen%Schnibpunkte%
mit%Polygon.%Anzahl%Schnibe%gerade%=%Punkt%außerhalt,%Anzahl%Schnibe%ungerade%=%
Punkt%innerhalb.%
Per%KonvenNon%„schießen“%wir%den%Strahl%immer%in%posiNve%xcRichtung.%Die%Richtung%
spielt%aber%(offenbar)%keine%Rolle.%
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Hier%wird%das%Kreuzprodukt%zweier%Vektoren%ausgewertet.%Dies%kann%durch%die%
„RechtecHandcRegel“%veranschaulicht%werden%(siehe%z.B.%Wikipedia,%etc.).%
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Hier%ist%das%BesNmmen%des%Schnibs%etwas%schwieriger,%weil%die%Gerade%genau%durch%
den%Punkt%geht.%Zählt%der%Schnib%zur%oberen%oder%zur%unteren%Kante?%
Dies%muss%per%KonvenNon%besNmmt%werden.%Dadurch,%dass%im%ersten%Fall%auf%
„kleinercgleich“%und%im%zweiten%Falle%auf%„echt%kleiner“%getestet%wird,%ist%
diese%Entscheidung%wieder%eindeuNg.%
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